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Test: Count the number of occurrences of the letter F in the phrase above.

































To participate, type in pas.cnf.io in your browser

Step 1: Enter website Step 2: Choose a Step 3: Respond to
URL Session Polls when they appear






Tom and Jane are each earning $200,000 this year. Are they happy about
this?
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Tom and Jane are each earning $200,000 this year. Last year Tom earned
$100,000 and Jane earned $400,000. Are they happy about their current
incomes?
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Tom is happy and Jane is not. Tom is happy and Jane is happy. Tom is unhappy and Jane is happy. Tom is unhappy and Jane is unhappy.
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Tom and Jane are each earning $200,000 this year. Last year Tom earned
$100,000 and Jane earned $400,000. Tom and Jane live in a very
exclusive suburb where the average income is $800,000. They each have
in-laws who live in the same suburb and make twice
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Tom is happy and Jane is not.
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Tom is happy and Jane is happy.

Tom is unhappy and Jane is happy. Tom is unhappy and Jane is unhappy

































Which of the following occupations is Steve most likely to have:
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Librarian Game show host Architect Salesman Actuary



The correct answer is Salesman (neglecting the base rate).
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